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CHEMISTRY
(Honours Generic/ Regular)

Paper : CHE-HG/RC-3016

( Chemical Energetics, Equilibrium
and Functional Organic Chemistry-I)

Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese,

Write the answers to the following

questions : 1x7=7
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(@) Give the 1st law of thermodynamics.,
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(b)
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(d)

(e)
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Define the thermodynamic system.
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What are ‘buffer solution’ ?
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What happens when acetylene ga$
passes through red hot iron tube ?
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ame the product in [UPAC when

?thyl bromide ig treated with Na-metal
In dry ether 7
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(g Write the molecular formula of
3-oxohexane.
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2. Answer the following questions : 2x4=8

wold 2T O fol ¢
(@) Why is acetic acid less acidic in
CH3COONa than in NaCl solution ?

oo «fo©], CH;COONa e wifEe!
NaCl 5393 39 10

(b) Define the adiabatic and isochoric
processes.
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(c) Write the Reimer-Tiemann’s reaction.

B Rigast fva)

(d) What do you mean by Syl reaction ?
Give one example of it.

Sy1-RiE wiw & 3= 2 | 95y Twimd
fomar |
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3. Answer dny three of the following :

5x3=15
R [ s Sea B ¢

(@) Discuss the Friedel-Crafts alkylation.
Rrem-ors etz R 3 <91

(b) What is Wittig reaction ? Discuss the
mechanism.

oot Rirn & 2 =ifdmmcst adfar <m )

(c) Write the differences between Sy2 and
Syl reactions.

SN2 ®IR% Sy1 g stz frat

(d) State and explain the zeroth law of
thermodynamics. Show that

- iR e @t B g o
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(e) Calculate the solubility of Mg(OH),

in molL-1, if K_ of M i
Sx10-12 gt 295‘}( 90}, is

Mg(OH),-3 Ksyp T W 208K Baeore

Sx 10712 3w, M,
» Mg(OH),-3 wfiwst
wﬁ&fﬁqw, )23 WS W/
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4. Answer the following questions : 10x3=30
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(a) How can 1°, 2° and 3° alcohol be
distinguished by Victor Meyer’s test ?
10

3% fimss sfewamam 1°, 2° 9% 3°
G Aty R Pl sRar e

Or /31341

(b) Show the method of preparation of
alkyl halide from the following :
2/2%x4=10

weTe [MAPTIRR #13 GeTiee (12e e eoge
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() From methane

e o
(i) From ethanol
AR o
(iii) From propene
e s
(iv) From chloro or bromoalkane
T A ITGAEE 2R
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() How does carbonyl compound react
with ammonia derivatives ? Write the . . L. .
mechanism of the reaction by giving (v} Diazotization reaction
different examples. 10 wRgTF i
; GTRIR IR TS IR e R .
; FFEE 90 ? [fen T & @3 RigR (e) () Derive Gibbs-Helmholtz equa'uorg
e fevat
| PRE- (TS T e T4
Or /&3y
(i) Show that PV’ = constant. 5
(d) Write the following reactions : 2x5=10 \&al (@ PV’ = &3F|
were fwal Ridrrn B ¢
. Or /a4l
() Haloform reaction .
: ) Mention the factors affectlflg
e it N jonisation of electrolytes. Wntg
S i on ‘buffer solution’.
() Aldol condensation reaction - briefly
- Ripe- Ry TR TR RPN
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(iii) Wolff-Kishner reduction (i) Derive Kirchhoff’s equation. 5
G- R R g TR G
(iv) Oppenauer oxidation
ANEANT TRy
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